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Topic:- General Knowledge

1) Who created history by becoming the first Indian gymnast to win gold medal in the vault event of FIG Artistic
Gymnastics World Challenge Cup at Mersin, Turkey? /

o aftf, gat 7 fiem snféfees Rmmfes o ads &1 & aiee gde # Wl ug® Sfitad g uyd URd
forRe s9ev gfaera s mm?

1. Sushil Kumar / G=0d $UR

2. Ashwini Nachappa / ST AT
3. Dipa Karmakar / a1 HHIHR

4. Aruna Reddy / 31Ul i@

Correct Answer :-

« Dipa Karmakar / a1 HHTHR

2) United Nations General Assembly (UNGC) has declared June 21 as: /
HYeR IY TETHYT (GEASRN) 7 21 57 3t =1 & Fu F aifta far:
1. International Yoga Day / m@’q qnT fead

2. International Doctors Day / G'HTT@U fafea® faag

3. World Environment Day / fay gfaRur feay

4. International Health Day / G{?ITT@T[ Wy faay

Correct Answer :-

. International Yoga Day / &Iﬁﬁ@u qnT fead

3) Madhya Pradesh Irrigation Efficiency Improvement Project focuses on which of the following irrigation systems?
/

Frafafaa 9 & few Riars yomelt w gwme Rars emar gere aRgiorr Sfsas?
1. Sagar Nadi Medium Irrigation Project / SR T ey Rimrs alarsH

2. Omkareshwar Major Irrigation Project / BRI AR ﬁﬁﬂ’%ﬁ BIRCISEI

3. Bundala Medium Irrigation Project / W HEYH ﬁﬁﬂé BRI

4. Kundalia Irrigation Project / wﬁﬂ'{ ﬁﬁﬂg BIRUISEI]

Correct Answer :-

» Kundalia Irrigation Project / ﬁlﬁf&ﬂ ﬁﬁﬂé BRI



1) has been selected for the development in MP, by The Ministry of Tourism under the Iconic Tourist
Sites Development Project. /

wmmﬁmuﬁﬁw%m,mmmnmﬁﬁm%m CAELIRG]
™I

1. Gwalior / ’a'm
2. Bhimbetka / HHeTHT
3. Sanchi / I

4. Khajuraho / @W
Correct Answer :-

« Khajuraho / @@TI_E?[

5) ‘More crop per drop’ idea comes under which of the following schemes? /
Frafafaa 9 @ frw 9o & aga ufa 4g e waa sayrRuT 3 82
1. Pradhan Mantri Vaya Vandana Yojana / TYTTHAT 9 deT Ao

2. Pradhan Mantri Krishi Sinchayee Yojana / PRIEEp] ?ﬁf ﬁﬁﬂé i

3. Antyodaya Yojana / ey o

4. Accelerated Irrigation Benefit Programme / @i R oy sriey

Correct Answer :-

« Pradhan Mantri Krishi Sinchayee Yojana / PrIEepl ?ﬁf ﬁﬁrﬁ-‘g gqromT

6) Who was posthumously awarded the Best Actress National Award in 2018? /
2018 # FRUNURTT f5a w8y AR o Ifha Reer | gwfa far wan
1. Reema Lagoo / ST [SIUN

2. Sridevi / et

3. Nargis Rabadi / qfifa N

4, Zohra Sehgal / EIRESS]

Correct Answer :-

« Sridevi / fi&dY

7) The first democratically elected communist government was formed in ./
YU Ahaita® ¢ A fAatfa arard! TRer &1 76+ T g ATl

1. Kerala in 1958 / 1958 H

2. Kerala in 1957 / 1957 H &3

3. Puducherry in 1957 /1957 & gga<t

4. Tripura in 1957 / 1957 & FQRT

Correct Answer :-



« Kerala in 1957/ 1957 H &d

8) The Indian Institute of Forest Management is located in which district of Madhya Pradesh? /
Ay & ford fore # WRdg 99 yeu SR fRa 82

1. Indore / s_caT

2. Ujjain / IS0

3. Gwalior / TaTfeRAR

4. Bhopal / T

Correct Answer :-

« Bhopal / wara

9) The theme for the 2018 International Yoga Day was___ ./
Siarfgta AT faaw 2018 &1 fawa Tl

1. Yoga for Peace / ifd & 1%111 T

2. Yoga for Peaceful Mind / Q'IT%U;UT T & ferg anT

3. Yoga for All / G+t & ferg A

4. Yoga for Health / XdT®YJ & ﬁ-ﬂ! anT

Correct Answer :-

« Yoga for Peace / i d & ferg am

10) The largest riverine island in the world 'Majuli' is located in ./
fay &1 e w97 A8 fu g # a3

1. Nagaland / BININE]

2. Mizoram / THSIRH

3. Assam / 3[gH

4. Manipur / AfOTGR

Correct Answer :-

o Assam/ 3dH

11) Kadaknath meat that recently got GI tag is a specialty of which MP district? /
FSHATY A R 71 &1 # sftang & firen, woave & forw ford o6t fagoan 82
1. Sagar / 9T}

2. Raisen / I

3. Rewa / 3l

4. Jhabua / 3T

Correct Answer :-



« Jhabua / 3T

12) India’s only mechanized diamond mine is located in which district of Madhya Pradesh? /

AT P 5 o & URd B T axfi-itpd €1 T R @2
1. Gwalior / TaTferaR

2. Sagar / IR

3. Panna / G+l

4. Satna / Il

Correct Answer :-

e Panna /Ul

13) India's first high-speed Bullet train will run between Mumbai and .

YRD B Uget g gac A gas ol Fdu s
1. Goa / TTiaT

2. Ahmedabad / 3{GHGIETG

3. Bengaluru / STl

4. Pune / Q01

Correct Answer :-

« Ahmedabad / 3[gHGIdI

14) Name the Dhrupad artists from Madhya Pradesh to have conferred the ‘Padma Shri’ in 2012. /
TSR & I YU HATHR BT A1 Fa1¢, forg 2012 F "w=rsfi I wvnf=ra fowam wam)

1. Mohan Shukla / Inf-f:fw

2. Sulbha and Manoj Saraf / g4I 3R IS WRB

3. P.V. Kahu / Q1. d1. g

4. Gundecha Brothers / ‘Iaiﬂ agaﬁ

Correct Answer :-

« Gundecha Brothers / ¢d a’g&ﬁ

15) Name the company in Hoshangabad which manufactures Bank Notes and Security papers. /
BIRATETG ® I HU BT ATH TaTg Y b e 3R Y& U7 I 3|

1. Currency Note Press / HT A U

2. India Security Press / E'%TIT i o

3. India Government Mint / HRd WR&R fHe (gﬁ'ﬂ'[ TTgHc ﬁl?)

4. Security Paper Mill / Ryt TR i

Correct Answer :-



« Security Paper Mill / R TR e

16) Independent Evaluation Office has been created by the government of India for the purpose of: /

YRA INPR gRT = Ie=T & I Tads gedicrd Sraitad 9141 14T

1. Conducting audit of the public sector companies / YIS & &1 HUHl & ARaT U BT ST B %ﬂ

2. Increasing public accountability of some major programmes / & U PRHH B Fraol-d Sraregal Q'@ %ﬂ
3. Raising capital resources from the public / STl | Q\Trﬁ RRSILE] aaﬁ %ﬂ

4. Creating an independent evaluation office of national accounts / TI'@'C[ Tl &1 b WA HAip FHrTag § %ﬂ

Correct Answer :-

« Increasing public accountability of some major programmes / P& UL FHTIHH! Bt AdeId SaaGg! o q@ %ﬂ

17) According to the Government’s 2018 Swachh Survekshan survey, which city of Madhya Pradesh stood 27 i
the ranking? /

YR & TS AT T 2018 & TGS, HeA U & 6 UG- I AT F gORT I YT gaim?
1. Indore / $GR

2. Jabalpur / STS¢TYR

3. Gwalior / TATICIIR

4. Bhopal / HIUT@

Correct Answer :-

« Bhopal / uard

18) According to International Union for Conservation of Nature (IUCN), which of the following is a
vulnerable species? /

RIS U T wRer 6 (IMEgHIT) F uR, Fafifed # @ o= A yenfa sifaddg=ia 2
1. Spot billed pelican / Wic foes Uferw

2. Great Indian Bustard / I€ &9 Scs

3. Forest owlet / STAI 3T (PIR¥T 3M13¢IC)

4. Lesser Florican / 0R IR

Correct Answer :-

« Spot billed pelican / e foee ufae

19) Which of the following minerals is associated with Malanjkhand mine in Madhya Pradesh? /
Aovew § frafafed & @ o9 a1 @fie, raeds weF 4 |t 32
1. Copper / didl

2. Manganese / AT
3. Bauxite / SIGITSC



4. Limestone / AT TR

Correct Answer :-

» Copper/ GIE

20) Which of the following states is not in the List of focused states of DFID (Department for International
Development) by UK in India? /

%gigﬁaﬁﬁﬁ'—rmm YRA & I FRT SWGIATES (R ga e faum & FRa ooyl g &
1. Odisha / 3N

2. Madhya Pradesh / AOUGRT

3. Rajasthan / SR

4. Bihar / TR

Correct Answer :-

+ Rajasthan / XTSI

Topic:- General Hindi

1) UgTs & fore Ot vufgard ardt zrea) @ ufd &1 g
1. gad, 3/, e

2. Udd, 3rgq, Rk

3. Udd, 3, IRk

4. OTdqt, 3/, Rk

Correct Answer :-

2) 37Fd TR YRR TS - GeTax &1 o P fieei d d S arg?
1. HATRIT G

2. AT guf g

3. 99

I A

Correct Answer :-

. GG

3) Ugoll AT Siiaq @ O | - § 9 & A 1 971 36 R 82
1. fafa SR

2. 30AT DR

3. Gohifad ABR



4. I IABR

Correct Answer :-

. JUHT ABR

4) 3T - Ueqd A 91 A A A A B A1 82
1. Usld

2. HIaYDh

3. (g9 dd

4. lddH

Correct Answer :-

5) Tefoard - &1 e & @ 31 a1 w8 faeiv s 32
1. 3ffaad
2. 3Tgiaard
3. 3fgfaard
4. ATORGTg

Correct Answer :-

6) ufvuny - & fere &t %fY fasde &t gl
1. OTR+TH
2. QIR+
3. U+
4, URI+AH

Correct Answer :-

« R+

7) A -FIYS FU AR BT AR

1. 53
2. 91
3. 9
4. 13

Correct Answer :-



8) XMid ¥ BT RITH HIT FT 3?2
1. Q=T

2. AT

3. GrHRh

SRECT

Correct Answer :-

9) wor - & fRrg et WYy fasde #Y gfva
L. U+HHA
2. R+
3. UI+HHE
4, IR+H4

Correct Answer :-
o U+HME
10) THEUAl - BT 9 & A B a1 9} faei 2eg 32
1. BT
2. 3FHEY
3. BT
4. 3ABTEY

Correct Answer :-

11) S UEA T TP e & Rt I A A e
1. Ydqd
2. IIAE

3. 3Ydgd
4. vfaeg

Correct Answer :-

12) R B AR F o v g R AT F AT
1. ATRa®
2. 3TRA®H

3. AdHID



4. ART®

Correct Answer :-

13) graoft - T Y FU T A A PTAR?
1. Fgroft
2. rféroft
3. TI&0T
4. gfayoft

Correct Answer :-

. fgroft

14) Yfd - ST A T T P A A P AT 2
1. T

2. Yrfcare

3. Wifcare

4. giarg

Correct Answer :-

15) gfa - ST A T v A A A P AT e?
1. Thferara
2. grfcraTd
3. Uifaard
4. yfard

Correct Answer :-

16) Uaeed - § g & @ B9 w1 9 @2
1. SHYRY T

2. %8 A

3. Sgsiife TN

4. fgy9am

Correct Answer :-



17) gRGHIAT - BT HHRIS faug Fa A A ST A1 32
1. B T B Al
2. B H Hiell
3. X O | Hiel
4. GO T Tl

Correct Answer :-
. WHEAH A
18) 7} & T 9 vatfaarh ara wrsgi &Y dfda &t gfwl
1. G, TRA, et
2. R, aRATOR, Tt
3. R, RAR, qeit
4. R, aRfoR, afeht

Correct Answer :-

19) P gH? & T g4, O SRl ol Wy |

Afg aHe € iR, foR o uoea uta ) - ® e & 9 919 a1 SeioR 82
1. ¥UH AADR

2. Jffa=fad SAidR

3. IopIfad SHABR

4. IHET 3ABR

Correct Answer :-

. ToDIfad SABR

20) fra®d S8 Ygwal mad|

AT 9 T8 F AT fora vee uraa ) - AP m A AT E =
1. YT 9

2. 3EYA T

3. Al ™

4. QA XY

Correct Answer :-

o U

Topic:- General English



1) Choose the correct form of tense for the given sentence:

Demining the action of removing landmines, booby traps and unexploded bombs from an area so that once
they soldiers can pass over the area safely.

1. was, had removed

2. is being, are being removed
3. is, are removed

4, has been, has been removing

Correct Answer :-

 1is, are removed

2) Choose the correct form of modal auxiliary verb for the given sentence:

The Government _____ do something for the farmers who are suffering due to insufficient rain.
1. ought to

2. need

3. ought

4. use to

Correct Answer :-

« oughtto

3) Choose the most suitable determiner for the given sentence:
There are ___types of cartoons that children love to watch all day.

1. little

2. fewer

3. much

4. several

Correct Answer :-

o several

4) Choose the option that correctly sequences the following sentences:

. Similarly, coffee starts to lose its flavour if gets old.
. It's like a banana kept in the fridge.

. The taste of coffee depends on its freshness.

. It goes stale if kept for many days.

AW N -

1. 1234

2.4132

3.3241

4,2314



Correct Answer :-

o 3241

5) Choose the option that best explains the highlighted expression:

A man of enthusiasm must take a shot at something problematic.

1. make an attempt

2. demand something

3. ask something

4. give something

Correct Answer :-

« make an attempt

6) Choose the option that best transforms the given sentences into one.

The speaker had just finished his speech. The people started shouting slogans.

1. Hardly had the speaker finished his speech before the people started shouting slogans.
2. Hardly had the speaker finished his speech then the people started shouting slogans.
3. Hardly had the speaker finished his speech when the people started shouting slogans.

4. Hardly had the speaker finish his speech and the people started shouting slogans.

Correct Answer :-
« Hardly had the speaker finished his speech when the people started shouting slogans.
7) Choose the appropriate conjunction for the given sentence:

John has learnt to play football well, his favourite sport is badminton.

1. also
2. yet

3. s0

4. and

Correct Answer :-

8) Choose appropriate articles for the given sentence:

Advertising is both ___art and ___ science; some of ____ advertisements are so artistically designed that they are the
source of great aesthetic pleasure.

1. an, the, the
2.an, a, the

3.3, the, an



4. the, the, the

Correct Answer :-

. an, a, the

9) Choose the correct form of tense for the given sentence:

Thebank __ to write off a large amount of the farmer’s debt just before the financial year ended.
1. was forced

2. was forcing

3. forces

4. will force

Correct Answer :-

« was forced

10) Choose the word that is opposite in meaning to the highlighted word given below:
He is an intense young man who takes life very seriously.

1. moderate

2. emotional

3. profound

4. vivid

Correct Answer :-

» moderate

11) Choose the appropriate prepositions for the given sentence:

Sweat trickled ___ the man’s face when he noticed the beast standing __ him.
1. down, behind

2. up, beside

3. through, over

4. on, against

Correct Answer :-

« down, behind

12) Spot the error in the given sentence and choose the option that rectifies it.
These river and that mountains make the weather what it is.

1. This river and those mountains make the weather what they are.

2. These rivers and those mountains make the weather what it is.

3. These river and those mountains make the weather what it is.



4. These river and that mountains make the weather what they are.

Correct Answer :-
o These rivers and those mountains make the weather what it is.

13) Choose the appropriate option that rewrites the given sentence in active voice.

I will be forced to go.

1. I will go because of someone.

2. I will force some to go.

3. Someone will go because I force them to.
4. Someone will force me to go.

Correct Answer :-

» Someone will force me to go.

14) Choose the appropriate prepositional phrase to complete the given sentence.
I look forward you.

1. to see
2. to be see
3. to be seen

4. seeing

Correct Answer :-

15) Choose the option with the appropriate prefix to complete the given sentence.

We have learnt about ___regular verbs in our English class and found it very interesting.
1. mis-

2. un-

3.ir-

4. mal-

Correct Answer :-

16) Choose the option that best transforms the sentence into passive voice:
The Chief Guest cut the ribbon to inaugurate the new emporium.

1. The ribbon was cut by the Chief Guest to inaugurate the new emporium.
2. The ribbon was being cut by the Chief Guest to inaugurate the new emporium.
3. The ribbon was cutting by the Chief Guest to inaugurate the new emporium.

4. The ribbon had cut by the Chief Guest to inaugurate the new emporium.



Correct Answer :-

o The ribbon was cut by the Chief Guest to inaugurate the new emporium.

17) Choose the correct form of verb that is in agreement with the subject:

When it public buses can be twice as dangerous because most of them
system.

proper windscreen wiping

1. is raining, doesn’t has
2. rains, don’t have

3. rain, hasn’t

4. raining, isn’t having
Correct Answer :-

« rains, don’t have

18) Choose the correct form of the verb from the following options in the given sentence:
They chess when I went to see them.

1. playing

2. is playing

3. were playing

4. was playing

Correct Answer :-

« were playing

19) Choose the correctly punctuated sentence:

1. well we have finished our work for the day!
2. Well, we have finished; our work for the day.
3. Well, we have finished our work for the day.
4. Well! We have finished our work for the day?

Correct Answer :-

« Well, we have finished our work for the day.

20) Choose appropriate articles for the given sentence:
__ dogbarked ___ whole night and disturbed my sleep.
1. The, an

2. A, an

3. A, the

4. An, the

Correct Answer :-



Topic:- General Mathematics

1) A linear equation in which its ordinate is half the abscissa and opposite in sign is: /
TF M@ Tt forad 3aeT Sife-sie, Ysiie &1 eyt 3R fag A faudia gar @:
1. 2x=y

2.2y=-x

-
=

2) Solve/gﬁaﬁ'z
1186 x 298 = 298 x?
1. 1186

2.298

3. 888

4.3.97

Correct Answer :-

- 1186

3) The difference between two numbers is 256 and the difference between their squares is 256000. Find the
numbers. /

3 el & oFF BT 3R 256 & T & 9Tl & o1 BT 3 256000 & | HSATE JTd B |
1. 722, 466
2. 608, 342
3.488, 232
4,628,372

Correct Answer :-

» 628,372

4) If 10% of x is same as 20% of y, then x:y is equal to: /
X BT 10%, y P 20% P SRR §, 99 x :y SRR &

1.1:2



2.2:1
3.3:2
4. 9:8

Correct Answer :-

e 2:1

5) A sack of mathematics text books weigh 2kg 400g. If the weight of one mathematics text book is 300g, then how
many text books are there in the sack? /

TIOTT 1 TS Y| arelt U at &1 aoi 2fFa 40071 B | afe 10T &Y U uTed YRad &1 awi 300 ITH
2, A 98 A fra-it urew g &2

1. 10
2.8
3.26

4,12

Correct Answer :-

6) Theresa took a loan of Rs. 80000 to buy a vehicle. She paid back Rs.4600 every month for one and a half years.
How much did she pay back to the bank? /

AT A T a8 WG P T 80000 FUT BT BT foram | I 3¢ AT 9P 8% WS 4,600 FUY BT I
a1 39 9% o1 ara fran e fear

1. Rs. 83,600 / 83,600 ¥UU
2. Rs. 81,000/ 81,000 YT
3. Rs. 82,800/ 82,800 ¥UUQ
4. Rs. 55,200 / 55,200 24U

Correct Answer :-

+ Rs. 82,800/ 82,800 %UU

7) Subtract (-274) from (+172)./
(+172) H | (-274) HETC|

1. 446

2. -446

3.-102

4.102

Correct Answer :-

. 446



8) 74 books and 106 pens together cost Rs. 1910 while 106 books and 74 pens together cost Rs. 2230. The cost of a
book and a pen is: /

74 TXIP) U4 106 HAHI Bt A AT 1910 FUT §, Fdfh 106 Y&ID] Td 74 HAHI &1 $o ARTH 2230 FUT ¢
TH AP U4 Uh HAH B a7 @

1.Rs. 30/30®4YU
2.Rs. 37/37%UQ
3.Rs. 25/25%4U
4. Rs. 23 /23340

Correct Answer :-

« Rs.23/23%UU

9) An irrational number between 2 and 2.5 is ./

2 3R 2.5 & 9 U@ URAY F&IT gl

1. +/225
2. Vs

3, V155
4 V10

Correct Answer :-

10) In an exhibition hall, there are 24 display boards each of length 1m 50cm and breadth 1m. There is a 100m
long aluminium strip, which is used to frame these boards. Find the length of the aluminium strip required more to
frame all the boards. /

T UG- 8Td A, 24 v 1€ €, o ude &1 dars 19} 503+ ofik Shers 1 7 g1 v 1007 &l
vegHifeaw vl 8, RoraeT Suah 349 disl @) %u w1 & fore far wimar 81 9t aist #) v o & fore
SRS Sffafvad Teitf-aw ugl &t darg g S

1.20m /20 |
2. 120m / 120 |t
3. 10m/ 10 Ht

4.4m/ 4 |

Correct Answer :-
.« 20m /20

11) Kirthi borrows a sum of Rs. 10,000 at a rate of 12% per annum for 7 years. Find the amount to be paid at the
end of 7 years. /

aﬂﬁfgwﬁé?ﬁmlz% ufa 7 F a3 A 10,000 TU FI AR IUR &t 1 7 9 F 3iq W Yra™= ot <= areft 7™
Id B}

1. Rs. 18,400 / 18,400 3T



2. Rs. 19,600 / 19,600 ST
3. Rs. 20,000 / 20,000 ST
4.Rs. 17,200 / 17,200 TUY

Correct Answer :-

« Rs. 18,400/ 18,400 ¥UY

12) Find the cube root of 13.824. /
13.824 T U-T9A F1d B |

1.2.6

2.3.4

3.24

4.3.6

Correct Answer :-

13) Find the 9" term of the series: 4,7,10,13.../
uft 4,7, 10, 13.... BT 9% UG FA FY

1.31

2.24

3.25

4,28

Correct Answer :-

. 28

14) Which one of the following numbers is the greatest? /
Frafafed # 4 919 9@ te Jen aad 51 32

1.2354

2.2453

3.2345

4. 2435

Correct Answer :-

« 2453

15) If 9 workers can build a wall in 28 hours, then how many workers will be required to do the same work in 21
hours? /



T 9 4P TP AR &1 28 Ul & 991 Ahd &, 1 FHH 1 B 21 "l H B P e fraa yfie) ot
3MITgSHdl ghfl?

1. 15
2.24
3. 18

4,12

Correct Answer :-

o 12

16) A door with dimension 2 5m=1m and 2 window frames each of dimension 1.5mx>1m is fixed on
awall of dimension 7m=6m. Find the total labour charge for painting the wall if the labour

charge for painting 1m? of wall is Rs. 4. /

2.5 #Hr x 1 # aft@wT aer vs ggarar 3K 1.5 # < 1 #r afamr gl 2 Gsteat
& e, 7 7@ < 6 gR@mT el te JaR W @ I g1 AR & 9T el &
fav o s aed 719 R, IR AR & 178 f 3T & @e sam ana 4 733§

1. Rs. 146/ 146 24U
2. Rs. 152/ 152%4UQ
3. Rs. 168 /168 ¥UU
4, Rs. 158 /158 ¥UUQ

Correct Answer :-

« Rs. 146/ 146 %UU

17) Solve the value of x in the given equation: /

feu T FHEOT H, x T A ATd I
7+ 4x 5

—3x+9 20

1.-1
2.2
3.-2
4.1

Correct Answer :-

18) (1068 x 486 = 928) will be a number that ends in digit__ . /
(1068 x 486 = 928)°ush TeaT grY =t 3 T FATT gdT B

1.8
2.2
3.4

4.6



Correct Answer :-

19) Solve: /e @i
(153+53)2

1. 81
2.243
3.729

4, 102x30

Correct Answer :-

. 729

20) : , -3 -5 -8 g
Armange in ascending order: T, T,— and ; /

9
‘73 ‘75 ‘; Uég F FRE A Ao 7

F »

8 -3 -5 -8
—C— < — < —
9

4 G5 T

Correct Answer :-

=8 =8 =3 -
g <
9 7 7 9

Topic:- General Science

1) Under which of the following conditions is a person most likely to fall sick? /

Frafafea # @ feu fRufa § ve afdd $ HaR vsa ot duraHr st g2

1. When she has recovered from malaria and is taking care of someone suffering from chicken pox. /
S 98 HARAT A 31 81 TS 81 3R Iae | R frel sufd ot SraHTet R 38 81

2. When she is recovering from malaria. /
e I8 HeRgT 4 31 81 31 81

3. When she is at home having a healthy diet. /
e 98 TR TR W 3MER 3t 81|

4. When she is on a four-day fast after recovering from malaria and is taking care of someone suffering from chicken pox.

/



9 98 HARAT ¥ 31 8 & 91 IR e & IUd™ W 81 31k I9& ¥ Uifsd [ afad &1 gaHTd H= el 81l

Correct Answer :-

* When she is on a four-day fast after recovering from malaria and is taking care of someone suffering from chicken pox.

/
Tq 98 AR ¥ 3l 81 & 918 IR 39 & Iua W 8 3R I T tifed frdht aafad ot SHTd R @1 8l

2) To which phylum do the following features apply?

1. The body of the organism is dorsoventrally flattened.
2. The organism is triploblastic and bilaterally symmetrical.
3. Most of them are parasites.

frafifEa fadivane g w9 (wrgaw) R arg e 82

1. i1q &1 IRR YHa U A Tuer giar 2|

2. i, TrEwEsARed 3R fguehy v d quiia giar 8|
3. 379 ¥ SUTETaR UReidl g &1

1. Annelida /ﬂﬁﬁ‘l@

2. Platyhelminthes /lﬂ’cﬂ%ﬁmﬂa

3. Nematoda / TAICIS W‘v’fﬂ)

4. Arthropoda / mfarsT mm

Correct Answer :-

« Platyhelminthes /@?ﬂ%ﬁ?’ﬁ\_ﬂ

3) If heat falls on an object, then: /

o9 Pt avg R ST USdl B,

1. the whole heat is reflected only / Had @ ST Riafad E;T(‘ﬂ % |

2. the whole heat is absorbed only / Had @ ST G Eﬁ?ﬁ %I

3. the whole heat is transmitted only / B @ ST TR Biell ©

4. the heat may be absorbed, reflected and transmitted / 3> SHT 3@'@'&?‘{, WRrdafad 3R TaiRd Epf Thdt %I

Correct Answer :-

« the heat may be absorbed, reflected and transmitted / 3 SHI mﬁ, W'ﬁﬁ GHT TaTid Epf Thdt %’I

4) The noise pollution causes: /
<afy TgWol T HRT §:

1. Cancer / H¥R

2. Hypertension / N IRIGEIC]

3. Very high fever / §§d ol §UR
4. Diabetics / qﬂfl—é

Correct Answer :-



« Hypertension / XIRKCIC]

5) The product/s obtained in a neutralisation reaction is/are: /
T FAeuTdeRor sififean & yra Iae 278

1. Acid / 31&T

2. Acid and salt / 3% Td Ul

3. Salt and water / 90T Ud &

4. Base and water / &R Td [d

Correct Answer :-

« Salt and water / 90T U4 ST

6) The inner surface of a polished steel spoon acts as a: /

UTRIGR ¥ & T7E B TARP A6 SAP] a¥8 P Sl o:
1. Concave mirror / Add GUUI

2. Concave lens / 3{ddd o

3. Convex mirror / 3@d GUUT

4. Plane mirror / FHIS GUUT

Correct Answer :-

» Concave mirror / Hdddl E'CfUT

7) The correct chemical formula of calcium nitrate and potassium dichromate are respectively: /
PRy Argee 3R MR/ SEHie & g IMHNE T HU:

1. Caz(NOz)z & K(CrOr)2

5. CaxNOz & K2(Cr07)2
3, Ca(NOs3} & K2CnO7
4. CaNOz & K2Cra0y

Correct Answer :-

Ca(NOa) & KaCr209

8) The separation of two immiscible liquids can be done based on the difference in their .
31 rfyyofi ave uerdf &1 guameor, Sk W SiaR & SMUR W fHar o gear g

1. densities / Tl

2. volumes / 3TIA!

3. refractive indices / 3T W

4. masses / SOOH!



Correct Answer :-

« densities / Il

9) Viruses are placed as marginal between living and non-living things because they are .
T B Siifad 3R efifaa vl & Su Fwia S RegI@ A ®ifpd

1. able to multiply on their own / WY &I mﬁk_‘[ B H g Eﬁ?f %I

2. like crystals inside the body of the host / UG (EPIE) & YRR & 3/ fohed 1 ave %I

3. living only inside the body of the host / Had UNdH )@'E( & IR & 3R Bl R?f %I

4. primitive organisms / 3‘|Tm Sita Eﬂﬁ %I

Correct Answer :-

« living only inside the body of the host / HId NYH )m( FWR B 3 é’f Q_E-:?f %I

10) At 8.30 pm, the odometer reading is 5845 km. What will be the speed of the vehicle if the odometer reads 5890
km at 9.00 pm? /

T 8.30 T, NSIHICT BT HFET s845fFarier g1 afe snsiiex Id 9.00 T 5890 S Hwar & ol 964 Bt
ITel T gRI?

1. 3 km/min / 3 foeil/fe
2. 1.5 km/min / 1.5 foouil/fo1e
3.2 km/min / 2 fdl/fiHe
4.5 km/min / 5 fooml/fBTe

Correct Answer :-

« 1.5 km/min/ 1.5 o8y /fie

11) Copper consists of two isotopes A and B, whose atomic masses are 62.93 amu and 64.93 amu respectively. The
atomic mass of copper is 63.55 amu. Calculate the percentage of the isotopes A and B. /

PR A 3 TURITAS A 3R B Afed &, rd WRUTY] S0 HHRM: 62.93 amu 3R 64.93 amu &1 TS BT
TRHTY] ST 63.55 amu & | THRITS! A 3R B &1 ufaxra uRefa S

1. A (51%) & B (49 %)
2. A (60%) & B (40 %)
3. A (69%) & B (31%)
4. A (1%) & B (99 %)
Correct Answer :-

« A (69%) & B (31%)

12) Arrange the following organisms in their decreasing power of regeneration.
i. Lizard

ii. Planaria

iii. Man



